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7. Simplify the following. giving your answers in index form.
@ (@)= (@)= @ ()=
@ ()= © (@)= o @)=
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8.

Fill in the missing numbers.
@ (2)=2 ®)
@ ()=  ©

(27)3 —on

(10%) =10
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9.

Simplify each of the following. giving your answer in index notation.
@ 3*x3"x3*= @® 2°%x2"x2= (¢ x5 x5=

X7 © X7 ® 2P x2%
7 TxT %2

@
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243 can be written as 3°.

Find the values of p and ¢ in the following:
(@) 64=47 ) s=1

Express as simply as possible:

42 x 6x°

124°
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1. Write each of the following using index notation.

(@ 4x4x4x4x4 () 3x3x3

(€) 6X6X6X6X6X6X6 @ 7Tx7TxTx7
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2.

Find the value of each of the following.
@ 3 ® s ©
@ ® 3 (2

27
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Fill in the missing numbers.

@ 2"x2*=2’ ®) 3*x3 =3 © 3*x3=3
@ 4x4r=47 () $'x5'=5° ® 5'x5=5
(@ x4t=4° (h) O 3*+3r=3
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Fill in the missing numbers.

@ 4=2" ®) 8=2" © 16=2"
@ 64=2" (@ 27=3 ® 25=5
(@ 64=4" m 81=3" G 125=7°
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Simplify the following expressions. giving your answer in index notation.

@ 3"x3%°= ® 2x2"= © 4 x4=

@ 3°x3= (@ 2x2°= @  2°x2%=

(g 37+3= M 3x3°= @ 3F¥=+3=
2 o 2

0 - ® L= o 5=

m) 4x2’= o) 2_ (©) 2
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Fill in the missing powers.
@ 8=2" (b) 1000 =10" © 16=2’
@ 27=3 (@ 81=3" (® 10000 = 10"

(@ 625=5" m) 64=4" () 1296=6




